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r?2—3z+5, <1

flx) =< -2, l<x<?2
2r 41, r > 2

Select one:

a.1qs?2

b. 4

c.1
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Question 2
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2 -3z +2 =<1
f(x) = . |

T — D, r>1

Select one:
a. 4
b. 1
c. -4
d.3

Question 3
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a2
ar +xr—9, T<2

flx) =

x—1, r>2

Select one:
a.1
b. 3
C.2
d. 4

Question 4
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Select one:
a. 1
b. 2
c. 4
d.3

Question b
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Select one:
a. e’
b. e
C. e*

d. e’

Question 6
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Select one:
a. g2

b, 26
C.
d.
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Question 7
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Select one:

a. 1
b. 2
c.0

d. 3

Question 8
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Select one:

a. 1l

b. 3

c.4
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Question 9
aodmomgsemgm f'(3), oy f(X)=4x3-6x2+5x-1

Select one:
a. 71
b. 72
c. 77
d. 74

Question 10

Select one:
a. 4
b. 3
C.2
d. 1

Question 11
a0dmmgsemgm ' (1), oy f(X)=2x*-3x3+5x2-x+3

Select one:
a. 12
b. 16
c. 13
d. 14

Question 12

Select one:
a. 4
b.1
c. 3
d. 2
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